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Question 1 
 
A network administrator is troubleshooting an EIGRP problem on a router and needs to confirm the IP addresses of the devices with 
which the router has established adjacency. The retransmit interval and the queue counts for the adjacent routers also need to be 
checked. What command will display the required information? 
A. Router# show ip eigrp adjacency 
B. Router# show ip eigrp topology 
C. Router# show ip eigrp interfaces 

D. Router# show ip eigrp neighbors 
 
Question 2 
 
What is the default maximum number of equal-cost paths that can be placed into the routing table of a Cisco OSPF router? 
A. 2 

B. 8 
C. 16 
D. unlimited 

 
Question 3 
 

Refer to the exhibit. 
Which two statements are true about interVLAN routing in the topology that is shown in the exhibit? (Choose two.) 
A. Host E and host F use the same IP gateway address. 
B. Router1 and Switch2 should be connected via a crossover cable. 
C. Router1 will not play a role in communications between host A and host D. 
D. The FastEthernet 0/0 interface on Router1 must be configured with subinterfaces. 

E. Router1 needs more LAN interfaces to accommodate the VLANs that are shown in the exhibit. 
F. The FastEthernet 0/0 interface on Router1 and the FastEthernet 0/1 interface on Switch2 trunk ports must be configured using the 
same encapsulation type. 
 

Question 4 
 
Which command allows you to verify the encapsulation type (CISCO or IETF) for a Frame Relay link? 
A. show frame-relay lmi 
B. show frame-relay map 
C. show frame-relay pvc 

D. show interfaces serial 
 
Question 5 
 
What is a global command? 
A. a command that is set once and affects the entire router 

B. a command that is implemented in all foreign and domestic IOS versions 
C. a command that is universal in application and supports all protocols 
D. a command that is available in every release of IOS, regardless of the version or deployment status 
E. a command that can be entered in any configuration mode 

 
Question 6 

 
Before installing a new, upgraded version of the IOS, what should be checked on the router, and which command should be used to 
gather this information? (Choose two.) 
A. the amount of available ROM 
B. the amount of available flash and RAM memory 

C. the version of the bootstrap software present on the router 
D. show version 
E. show processes 
F. show running-config 
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